Most disabled parking is more than 20 meters away from shops/ Hospital entrances/ Gp surgery/ place of work/ home parking / social engagement.

The 50 meter distance should be reinstated. This is what was agreed , prior to the 11th hour change to 20 meters, which was not consulted on at all. This was not democratic.

 

Also, looking at the mobility criterion, why is descriptor (f) included what difference does it make ? It scores no more points than descriptor (e) so what is its purpose ?

A minimum distance  of 50 meters  outdoors  should be the bench mark.

*** ***.

 

